

$$\begin{pmatrix} 2 & 0 \\ 9 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 1 & 1 \end{pmatrix} = \begin{pmatrix} 2 & 0 \\ 10 & 1 \end{pmatrix}$$

(1)

$$\begin{pmatrix} 1 & 0 \\ 1 & 1 \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 9 & 1 \end{pmatrix} = \begin{pmatrix} 2 & 0 \\ 11 & 1 \end{pmatrix}$$

$$\begin{pmatrix} 2 & 8 \\ 6 & -3 \end{pmatrix} \begin{pmatrix} 4 & 4 \\ -2 & -1 \end{pmatrix} = \begin{pmatrix} 2 & 0 \\ 60 & 27 \end{pmatrix}$$

$$\begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix} \begin{pmatrix} 4 & 3 & 1 \end{pmatrix} = \begin{pmatrix} 4 & 3 & 1 \\ 8 & 6 & 2 \\ 4 & 3 & 1 \end{pmatrix}$$

$$\begin{pmatrix} 10 \\ 7 \end{pmatrix} \begin{pmatrix} 9 & 1 & 11 \end{pmatrix} = \begin{pmatrix} 90 & 10 & 110 \\ 63 & 7 & 77 \end{pmatrix}$$

$$\begin{pmatrix} 3 & 1 & 2 \\ 0 & -3 & 7 \end{pmatrix} \begin{pmatrix} 4 \\ 3 \\ -2 \end{pmatrix} = \begin{pmatrix} 11 \\ -23 \end{pmatrix}$$

$$\begin{pmatrix} 3 & 3 \\ -1 & 2 \\ 0 & 8 \end{pmatrix} \begin{pmatrix} 2 & 5 \\ -7 & 1 \end{pmatrix} = \begin{pmatrix} -15 & 18 \\ -16 & -3 \\ -56 & 8 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 0 & -1 \\ 2 & 3 & 3 \end{pmatrix} \begin{pmatrix} 2 & -1 \\ 9 & 1 \\ 0 & 6 \end{pmatrix} = \begin{pmatrix} 2 & -7 \\ 31 & 19 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 8 & 4 \\ -3 & 7 & 2 \\ 0 & -2 & 1 \end{pmatrix} \begin{pmatrix} 5 & 1 & -1 \\ 2 & -4 & 9 \\ 3 & -11 & 0 \end{pmatrix} = \begin{pmatrix} 33 & -75 & 71 \\ 5 & -53 & 66 \\ -1 & -3 & -18 \end{pmatrix}$$

$$\begin{pmatrix} 3 & -1 & 1 \\ 2 & 0 & 1 \\ -2 & 4 & 0 \end{pmatrix}^{-1} = \begin{pmatrix} 2 & -2 & \frac{1}{2} \\ 1 & -1 & \frac{1}{2} \\ -4 & 5 & -1 \end{pmatrix}$$

הערות (9)

$$\begin{pmatrix} \bar{1} & \bar{7} & \bar{8} \\ \bar{6} & \bar{0} & \bar{3} \\ \bar{10} & \bar{4} & \bar{2} \end{pmatrix}^{-1} = \begin{pmatrix} \bar{6} & \bar{2} & \bar{6} \\ \bar{2} & \bar{6} & \bar{5} \\ \bar{10} & \bar{0} & \bar{10} \end{pmatrix}$$

זוהי סדר

$$\begin{pmatrix} \bar{5} & \bar{4} & \bar{2} \\ \bar{1} & \bar{7} & \bar{1} \\ \bar{2} & \bar{0} & \bar{3} \end{pmatrix}^{-1} = \begin{pmatrix} \bar{5} & \bar{3} & \bar{3} \\ \bar{5} & \bar{0} & \bar{4} \\ \bar{4} & \bar{4} & \bar{1} \end{pmatrix}$$

($\lambda \neq 0$ פשוט) $P_1 = E^{(\frac{1}{\lambda} \times j)}$

ה (10)

$$P_2 = E^{(j \rightarrow k)}$$

$$P_3 = E^{(j - \lambda k)}$$

הערה: E^{-1}, E^2 וכו' $2E$

$$P = \begin{pmatrix} 0 & \frac{1}{3} & -\frac{1}{3} \\ 0 & \frac{1}{3} & \frac{2}{3} \\ 1 & -\frac{1}{3} & \frac{1}{3} \end{pmatrix}, \quad PA = \begin{pmatrix} 1 & 0 & 0 & \frac{4}{3} \\ 0 & 1 & 0 & \frac{1}{3} \\ 0 & 0 & 1 & \frac{2}{3} \end{pmatrix}$$

ה (11)

$$[V]_A = \begin{pmatrix} 6 \\ -2 \\ 4 \end{pmatrix}$$

$$[V]_{PA} = \begin{pmatrix} -2 \\ 2 \\ 6 \end{pmatrix}$$

א. נניח כי $W_1 \cup W_2 = V$ ונניח גם כי W_1 אינו מוביל ב- W_2 (כלומר $W_1 \not\subseteq W_2$) וכן W_2 אינו מוביל ב- W_1 (כלומר $W_2 \not\subseteq W_1$).
 ב. נניח כי $v_1 \in W_1$ ו- $v_2 \in W_2$ ו- $v_1 + v_2 \in W_1 \cup W_2 = V$.
 ג. נניח כי $v_1 \in W_1$ ו- $v_2 \in W_2$ ו- $v_1 + v_2 \in W_1$.
 ד. נניח כי $v_1 \in W_1$ ו- $v_2 \in W_2$ ו- $v_1 + v_2 \in W_2$.
 ה. נניח כי $v_1 \in W_1$ ו- $v_2 \in W_2$ ו- $v_1 + v_2 \in W_1$ ו- $v_1 + v_2 \in W_2$.
 ו. נניח כי $v_1 \in W_1$ ו- $v_2 \in W_2$ ו- $v_1 + v_2 \in W_1$ ו- $v_1 + v_2 \in W_2$ ו- $v_1 \in W_2$ ו- $v_2 \in W_1$.

א. נניח כי $v_1 + v_2 \in W_2$ ו- $v_1 \in W_1$ ו- $v_2 \in W_2$.
 ב. נניח כי $v_1 + v_2 \in W_1$ ו- $v_1 \in W_1$ ו- $v_2 \in W_2$.

ג. נניח כי $V = W_1 \cup W_2$ ו- $V = W_1 \cup W_2$ ו- $W_1 \subseteq W_2$ ו- $W_2 \subseteq W_1$.
 ד. נניח כי $V = W_1 \cup W_2 = W_2$.

15) $u_1, \dots, u_r \in V_F$ ו- $\alpha_1, \dots, \alpha_r \in F$ ו- $\alpha_i \neq 0$.

$$\sum_{i=1}^r \beta_i (\alpha_i u_i) = \sum_{i=1}^r (\beta_i \alpha_i) u_i$$

א. נניח כי $\beta_i \neq 0$ ו- $\alpha_i \neq 0$ ו- $\beta_i \alpha_i \neq 0$ ו- $\sum_{i=1}^r (\beta_i \alpha_i) u_i \neq 0$.
 ב. נניח כי $\beta_i \alpha_i = 0$ ו- $\sum_{i=1}^r (\beta_i \alpha_i) u_i = 0$.

ג. נניח כי u_1, \dots, u_r אינן ליניאריות.

$$\sum_{j=1}^{i-1} \beta_j u_j + \beta_i \sum_{k=1}^r \alpha_k u_k + \sum_{j=i+1}^r \beta_j u_j = 0$$

א. נניח כי $\beta_i = 0$ ו- $\sum_{j=1}^{i-1} \beta_j u_j + \sum_{j=i+1}^r \beta_j u_j = 0$.

$$0 = \sum_{j=1}^{i-1} (\beta_j - \beta_j \alpha_j) u_j + \beta_i \alpha_i u_i + \sum_{j=i+1}^r (\beta_j - \beta_j \alpha_j) u_j$$

ב. נניח כי $\beta_i \neq 0$ ו- $\alpha_i \neq 0$ ו- $\beta_i \alpha_i \neq 0$ ו- $\sum_{j=1}^{i-1} (\beta_j - \beta_j \alpha_j) u_j + \beta_i \alpha_i u_i + \sum_{j=i+1}^r (\beta_j - \beta_j \alpha_j) u_j = 0$.